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Question Number : 1 Question Id : 454893121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtipIE Choice Question

Which one of the following is not a glacio-fluvial depositional landform ?

=1 5 9§ dF-a1 fF-adr Fenu wengia 78 2 7

Options :
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Kame
3§ $HH

Question Number : 2 Question Id : 454893122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The concept of 'base level of erosion’ was proposed by :

ARG BT AHR WY DI JTURT & T3 &

Options :
Davis

1 \—5'\ I_':'-IH igl\

Malcott

5 qf"'j;iv E_gi‘xl

Johnzon

4 A9 B8

Powell
dfdal g

4

Question Number : 3 Question Id : 454893123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which climate is most favourable tor chemical weathering ?

hT--H] NISEIE ETIASE J9T9 5 f‘f’TQ STH A 2

Options :

Cold and dry region
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Cold and humid region
5 gel Ud g ugyl

Hot and dry regions
; T Td I U_Y

Hot and humid region
. TH T4 3 Uy

Question Number : 4 Question Id : 454893124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which of the following plate movements is responsible for the formation of
Mid-ocean ridge ?
FfeIfEd § 9 $F-91 ©ic Hdad Je0-HeArg Hed & FH0 & Suvardl & 2
Options :

& onvergent movement

LWW

DiVEI'gE‘I'lt movement

2 HTHAN] HA

Transtorm movement
. Eﬂirfl'?l 9T G

Subduction movement

o .

Question Number : 5 Question Id : 454893125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which of the following oceans the direction of ocean current is reversed with
season /
Meliad § 9 Y H38MarR 4 98GrTad 99 & 290 #4949 & 91 uikdidd 2rdl
g7
Options :

Pacitic Ocean

1, T HERTR

collegedunia:

India’s largest Student Review Platform




Atlantic Ocean

> Acdilcd HBTHRN

Indian Ocean
.--E r R

Arctic Ocean

AThfcd HETHFY

Question Number : 6 Question Id : 454893126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which one of the following is not a cold ocean current ?
F=foIRad 5 | &9 SS1 HeTarId 9™ 8 ¢ ¢
Options :
Kuroshio

o
J\

1.

California

5 cxﬁk ol [ﬁhil =1

Orvashio

-

3W§m

Canaries

4(“"

Question Number : 7 Question Id : 454893127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which one of the following atmospheric layers reflects radio waves ?
Options :

Mesosphere

j N

Ionosphere
5 AT 9SS
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Troposphere
3 & qUsSal
Stratosphere
HHAAW HUso]

4

Question Number : 8 Question Id : 454893128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which of the follon ving instruments is used to measure the relative humidity in

air ?

Fy=ifoiaa | 9 fara SuaRr &1 U1 9 H A g |9 @ forg fasar o 2 ?

Options :
Hydrometer
, T STHICY

Hygrometer
BTSUTHICY
2.

Clinometer

5 FATATHICY

Barometer

4;“

Question Number : 9 Question Id : 454893129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following Indian States is famous for Makrana marble ?
fforfRad § 9 BI9-91 9Nad I9d J69AT STEEN & fore fawega g 7

Options :
Gujarat

. 3

Rajasthan
5 HEEIE!
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Madhya Pradesh

3“:1%:!1;1?;*97

Maharashtra
4 HERTC

Question Number : 10 Question Id : 454893130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which hill is not a part of the Eastern Ghats ?
-4 UgrS! ydrare &1 fewan 78 € ?
Options :
Sheravoy Hills
\ IRIATT UETS]

Javadi Hills

Nallamala Hills
JoolTHel TSl

Anamalai Hills
HAHATS BT

Question Number : 11 Question Id : 454893131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

If the elevation of sun declines, the albedo will :
afe G BT F=Idiel gedr g, df UfedsT ¢

Options :

Increase

s ‘-|

1
Decerase

2[eRi]
2.

Remain the same
qemad V2Tl
5l

collegedunia:

India’s largest Student Review Platform




No change
Hig gRadq da8 aFT

!

Question Number : 12 Question Id : 454893132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Montreal protocol is related to :
mf~cadl AIcTdhial Gafed © ¢
Options :

Air pollution
| TG TG

Ozone depletion
CISIERAILG

Water pollution
o Uy Y

Global warming
df¥aed =

Question Number : 13 Question Id : 454893133 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which of the following does not produce clifts ?
= 4 § D 97 B S~ T Pl 2 7

Options :
Compression fault

1W?rr~=;al1 G

Reversal fault

Thrust fault
&g |9l

Strike slip fault
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Question Number : 14 Question Id : 454893134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Boreal forest climate is associated with :

Options :
Sub-arctic climate

E"ﬂ-fj]itr”?_. th vl _ Q:[
1. a3

Mediterranean climate
, TEIRATNA Sfefary 4

Humid climate

3 EHTFI Lﬂ‘»:*il‘lfﬂ d

Tundra climate

4 S”'ﬁ! "J?fiai;l ﬂ

Question Number : 15 Question Id : 454893135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which one of the following surfaces has the lowest average albedo ?
feferfad 5 9 fohg 9 TR Wa9 &9 ATHd Yfeds! 8 ?
Options :
Grass
i L3153

Tropical rainforest

4 SuThica=g auiaq

Sand

&

3. R - *

Water bodies

JiC i<«

4.

Question Number : 16 Question Id : 454893136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
The number of agro-climatic regions in India as per the erstwhile Planning
Commuission is :
faca AT AT & AR 9N H $iN Sory &5 B 6@ €
Options :
Twelve
. INE

Thirteen

Question Number : 17 Question Id : 454893137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following air fronts has the steepest slope ?
fr=rferiRad § 9 feg 9rara &1 & digad 8l & 7

Options :
Warm front
TH a7

1

Cold front

Stationary front
3, RER T

QOccluded front
31 a {-"E_g W

Question Number : 18 Question Id : 454893138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is an example of third order relief ?
=1 H & ®F T HH ) gAHfa 2 7
Options :
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Fault block

: ¥ Oreaavs
D‘E‘ltfﬁ
> x-""»rl. CCl

Mountain range

3‘31?538‘-1'5'?[

Plateau

FISIE
4.

Question Number : 19 Question Id : 454893139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Most abundant chemical element of magma is :
HH @1 Hdiiad YHae o @

Options :
Ox}'gen

1.

Aluminiam

o, VAT

Iron

5,

SIES

Silicon
4 BIREZE

Question Number : 20 Question Id : 454893140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following islands contains the major coal deposits of Japan ?
= 4 9 fog g9 4 A &1 969y 991 digen fHem g ?

Options :
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Honshu

ll E'] "!

Hokkaido

I(j:us,hu
<

3, o
Shikoku

(#all=

R

Question Number : 21 Question Id : 454893141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Glauconite mineral is found in -

StpHEe @Ee U AT 8

Options :
Red mud
4 AT U H

Blue mud
4 el Uk H

Green mud

3 Y b H

Volcanic mud

4lmmavmu—rﬁq

Question Number : 22 Question Id : 454893142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Wave like magmatic intrusion is called :

T Fe9 HIHT SA<IaY @I Hel ol 2

Options :
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Lapolith

Phacolith

heb o2l

Laccolith
REIGE!

Batholith

i aeqTferer

Question Number : 23 Question Id : 454893143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question

In which of the following graphs comfort zone can be identified ?
=1 amp & 9 f5gd ‘Fpe S99 @ UgEE & A Ghdl § 7

Options :

Hythergraph

SEDEE 7

Climograph

FATS AT

Hydrograph

3 AESIDIET

Dendrograph

"_5.'\ ‘.. }
4.

Question Number : 24 Question Id : 454893144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Asteroids are found betiveen :

SERE fhgsd &g 918 &I & 7

Options :
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Mars and Jupiter

Jupiter and Saturn

Jedid g 9+

Saturn and Uranus

Uranus and Neptune

919 Ud HHU

Question Number : 25 Question Id : 454893145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question
Calculate the time of 45 degrees west, if it is 4 p.m. at 45° east :
IR 45°d H GHY HiF 499 €, 1 45° uf¥=d § 991 ¥ B6T 7

Options :
4 am.

i Ui 4 99
6am.
UTd: 6 &9

2
8 am.
urd: 8 @l

-

10 am.
p uTd: 10 99

Question Number : 26 Question Id : 454893146 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is nof an igneous rock ?

FrfeRad 3 § B ST TeeH T8 E ?

Options :
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Basalt

= nnglumera te

ot

5 PITIARC
Granite
DI

=
Rhyolite

4 VIgIese

Question Number : 27 Question Id : 454893147 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Folds in the mountains are the result of :
"--!f-iifl‘ I-T aci- ’:”QUHH ? ;

Options :

C umpreasimml Force

i IS 961 &I

Parallel Force

2

Shear Force
5 AU g P

Tenzional Force

, TS qA P

HHMETIY dc] bl

Question Number : 28 Question Id : 454893148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The term 'outwash plain' is associated with :
HTFHeddl o US ey wEid 2

Options :
Glaciers
) 29-al 9
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Rivers

y Pt

Sea Waves

, Tgal T 4

Winds

ga+t |
4

Question Number : 29 Question Id : 454893149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The process of 'deflation’ iz associated with -

UuET B ufthar fFay gwfg 2 7
Options :

Glaciers
1 fease 9

Running water
dodl vl

cea-waves

? THE-T

Wind action

Question Number : 30 Question Id : 454893150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Hail generally forms within the :
3Tt wmETaG: g B 8
Options :

Cirrus clouds
| e qreeli |
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Cumulonimbus clouds

2Tmﬂamm—fi‘rn

Nimbus clouds
5 ay] 9iSal o

Stratus clouds

p NTd aredl |

Question Number : 31 Question Id : 454893151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Koraput has rich depaosits of which mineral ?

HRIYE H fy @il &1 wH1G Harias 2 7

Options :
Bauxite

G|C

-

Copper

Question Number : 32 Question Id : 454893152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The water pollution in rivers is measured by the dissolved amount of which of
the following ?
fedl § el aguur @1 A HEfeiaa 4 9 fEue! o JE $ JER ) 6
STl 8 7
Options :

Chlorine

® L A

1.
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Ozone

2.
Nitrogen
3, TEETeT

Oxygen

PRCICEIEE

Question Number : 33 Question Id : 454893153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Hadley cells develop :
Options :
At the equator
1 YHEY YT W

On the tropics
AT YERI U

2

Between equator and trcrpir:z
5 T X § A @RI D T

On the poles
& gal IR

Question Number : 34 Question Id : 454893154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which ocean current is nof the part of North Atlantic ocean ?

HIF-U AT GRT S0 CATVCH HETAFR &1 3 J& 8 ?

Options :
Canary current
y Nl NI

Benguela current

, 9T G
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East Greenland current
5 T4 Fevs 1]

Labrador current

. TgeN HNI

Question Number : 35 Question Id : 454893155 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The name related to paleo-magnetism is :
NG Y i A9 8
Options :
]. A. Steers
3 Wo To &I
Harry Hess
, BXl &9

Valentine and Moors

, dorCIE 9

Dietz and Holden
4 CIRTy Uq BloeH

Question Number : 36 Question Id : 454893156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the earliest Period of geological time scale ?
Options :
Permian

1Iqﬁvm

Cambrian

Pre-Cambrian

; M-S g
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Tertiar}'

£ T

Question Number : 37 Question Id : 454893157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The 'Weichert-Gutenberg Discontinuity” is the boundary between :
JeC-TeAdd STl A 2

Options :
Outer and Inner core

E“E'H 1’\1}] :JH'E”.?(]? ﬂiﬁlé Fj; Eﬁﬂ

Sial and Sima

- foare v A & 4=

Crust and Mantle
YOS U9 WEYv & 919

Mantle and Core
, TR TS @ 4

Question Number : 38 Question Id : 454893158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Epeirogenetic movement causes :
g AT Tfafafe 26 2
Options :

Mountain building

Origin of continent

Transgression of sea

. Gg% B DT D DR
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Volcanic eruption
ATl IgHEH & DRI

4.

Question Number : 39 Question Id : 454893159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Match the tollowing :

=1 &1 gAferd HIT -
List-I List-II
-1 -1
(a) Vernal equinox (i) December, 22
gyd faya foq=r, 22
(b) Summer solstice (ii) September, 23
I AT Rawar, 23
(c) Winter solstice (ii1) March, 21
gferT AT a1, 21
(d) Autumnal equinox (iv) June, 21
HIGEARIEACE G o, 21
Options :

(a) (b) (o) (d)
@) Gv) (@) ()

(a) (b) (¢ (d)
o () () @) @)

@ () (9 (d)
o, () @) (@) ()

(a) (b) (c) (d)
(11) (v) (1) (111)

Question Number : 40 Question Id : 454893160 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Ladang’ is characterized by which of the follon ving ?
e A=fafag § 9§ ey sfaafea gar g 7

Options :

[ ]
gcollegedumas
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Mixed Farming
. fafsa @

Dry Farming
> I Wil

Slash and burning Farming
. FIET 3N Sl Edl

Wet Farming
. X ]|

Question Number : 41 Question Id : 454893161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItiplE Choice Question

(A) : The equatorial low pressure belt is located on either side of gengmphical
equator extending from 5°N and 5°5

H : YA 7 g4/ $1 9C1 5° 9T UF 5° TIE0 § Bl dFNfae &9 & S 3R
fRera 21

(R) : This zone is not stationary because there is seasonal shift of this belt with
apparent movement of Sun.

FIRYT : I &7 Rer 721 € ifd 39 U<l &1 419 geod g4 & W IR &
g1y Bl B

Options :
Both 'A’ and R' are true and 'R’ correctly explains 'A’".
, 'A'Ud R Tl W8 € Ud R, 'A’ P W AT IR €|

Both 'A’ and R’ are true but 'R’ is not correct explaination of 'A’".

'A'Td 'R' gFI 981 € ofébd 'R, 'A' & Hal WEIHI T2l ¢ |

'A' is true 'R’ is false.
'A'HaI 2 'R AT & |

'A' is false 'R’ is true.
i 'A' Toild 8 'R’ 981 2 |

Question Number : 42 Question Id : 454893162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
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India’s largest Student Review Platform

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question



Match the following :
=1 &1 gAfera HIfAT :

List-T
-1

(a) Belt of Calm

oMt &1 Ul
(b) Deflective force
faera ga
(c) Roaring forties
RGId ATl
(d) Harmatan
BYHCH
Options :
(@ () (¢
1 (i1) (1) (1)
(a) (b) (€)
> (1v) (1) (111)
(@ () ()
g (1) (1) (1v)
(@ () (o)
4 (V) () (n)

(d)

(iv)

(d)
(1)

(d)
(i1)

(d)
(1)

(1)

(11)

(111)

(iv)

List-11
I

Coriolli=s force

HINATH gcl

North easterly trade wind from Sahara to

Gulf of Guinea

LN

Equatorial zone
YHERE &5
Westerlies
EECIRCE|

Question Number : 43 Question Id : 454893163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who postulated Tetrahedral hypothesis on the basis of geometric principle ?

Ay fagid @ R W 68 aguhaed IRecd wfquied f&ar ?

Options :

Lowthian Green

lraﬁﬂmmﬁ

Elie de Beaumont

, Gl S dgAmE

-

el
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F. B. Tavlor
- Utho Eﬁ(’:& f‘:?ﬁ’

A. Wegener
4 Yo IR

Question Number : 44 Question Id : 454893164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When the position of the Sun, the Earth and the Moon are in a straight line, this
alignment is called

g G4, gedl U9 T Al U el N@1 | 21 €, O $9 UG B Hel Al 2

Options :
Low tide

TR

Syzygy

, AR farg

Neap tide
o Y TR ATe]

Nadir tide
" ey H1el

Question Number : 45 Question Id : 454893165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following factor(s) produces oceanic current ?

frfaRad 8§ 9 $9-9 &G ASTEFTNT SRT UeT Sdl/$vd & 7

(A) Gravitational pull and and Corioliz force

(B) Shape of the coastline

(C) Oceanic Salinity, Temperature and Density

(D) Mixing of cold and warm water
Ssl Ud W9 W @l [

[ ]
gcollegedumaa
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Options :
Only (C)

1W{C)

(A), (B) and (C)
» (A), (B)Td (C)

(B), (D) and (C)

5 (B), (D) T4 (C)

(A), (B) and (C)
4 (A),(B)TT (C)

Question Number : 46 Question Id : 454893166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which of the following is known as Ruhr of Japan' ?
fFrefefad 3 9 &9 @UE & ¥R F 9 H FE odn € 7
Options :

Osaka

Tokyo-Yokahama

Yanova

4I -'_IQIVH

Question Number : 47 Question Id : 454893167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Match the following :

Fr=ferRaa &1 gafera ST

List-I
-1
(a) Panama
JATHT
(b) Suez
T
(c) St Marie
(d) Albert Canal
[ [l 14
Options :

@ ® (@ (@
LB G @) @)

(a) (b) (¢ (d)
, @) @) @) ()

@ () ( (@
s () Gv) () (i)

@ ® (© @
L0 @) @ @)

List-1I

-1

Antwerp with Liege
ST @ 91 Uedu
Atlantic and Pacific
HAcditcd Td TRl

Red Sea and Mediterranea Sea
T 9FR U4 YHe 9N

Superior and Huron lake

JUIRaR vd SR 3

Question Number : 48 Question Id : 454893168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Who first used the word Tsostasy' ?
ERRIRY e &1 AT Aauerg fea faar ?

Options :

-

el
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Prait
Uc

Bowie

g 9

Question Number : 49 Question Id : 454893169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Anticlinical valley and synclinal ridge are associated with :
3a_d =TS Ud JAfA-d ded Hafad 2 -
Options :
Youthtful stage of river erosion
¢ A4l AWEA & Jarav] 9§

Rejuvenation of river

, T B TR

Inversion of relief

, “TPId B SSHAY

Transcurrent fault

4:11?1"am-' Y9 9§

Question Number : 50 Question Id : 454893170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question

Which of the following is the correct sequence from the coast towards the sea ?
fr=ferad | &9 dc 9 9N @ IR 98 HH 8 7
Options :

Longshore, Backshore, Foreshore, Otfshore

Backshore, Offshore, Longshore, Foreshore,
U3=dc, 3Ydc, 31’1(1':, dacid

2

Longshore, Backshore, Foreshore, Otfshore
- 3’1‘3'.'1(.'.1 ¥Tdc, dcliil, 3A4dc
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Backshore, Foreshore, Otfshore, Longshore
4 TTEIEE, e, JUTe, UgEe

Question Number : 51 Question Id : 454893171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Yardang is associated with :
Options :

Erosional activity by wind
, 94 BN HAREA™ fhmaay 9

Erosional activity by permafrost

memmmmﬂ

Erosional activity by glacier

Erosional activity by running water

4WWQTQTSTWE‘-W T fbarde |

Question Number : 52 Question Id : 454893172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Uvala means :
FaTeNl BT a2
Options :
Large closed depression in Karst region
i HIC &3 H 991 Ifa6E IFaT9

Less intensive holes
> FH HHY f@'a

Drj.' caves

Sinkhole
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Question Number : 53 Question Id : 454893173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

High phase of Southern Oscillation indicates :
gferofl ST &1 ST J[EveI Habd el €

(A) ENSO phenomena
ENSO HcHI

(B) Normal condition or Non-ENSO phenomena
T 3aeell A7 FR-ENSO el

(C) Heavy rainfall in East Pacific
gdl wend | 9 gl

(D) Low pressure system developed in Western Pacific
r‘ﬂ?ﬂ_ﬂn Ei‘éllii ﬁ[ !a L'FJI:\E:IH if-.f:-‘t_-l EIEI ﬂl.’||ﬁ|

(E) Weak westerley jet streams
HHAN UEEH] oI G

(F) Weak Monsoons
Select from the followings :
=1 9 99 $Ifav
Options :
A B CandF
; ABC UdF

A CDEandF
> A,CD,E UdF

C,DandF
3 C,DUdF

B,Dand E
4 B,DUAE

Question Number : 54 Question Id : 454893174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Thernmd}‘namic modifications of air mass indicates -
aryg f¥ & SHEETfae! TRadas Had od @
Options :
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Upliftment or subsidence of air
, T B SAR AT TG H

Divergence of airmass
, 9T & IJTEI0T BT

Heating or cooling of airmass from below

Cooling of air by radiating
o TafPROT ERT 91 & ST B A

Question Number : 55 Question Id : 454893175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The modified scheme of climatic classification by C. W. Thornthwaite in 1948
was based on :

1948 H Hlo Swge Iede BRI Folandd Had! dHI0l &I Fed Arar- smend
off :
Options :

Precipitaticm effectiveness

1 o7 ST TR

Thermal efficiency

5 AT SeFel IR

Potential E\'apﬂtranzpira tion

5 TIAT areES W

Moisture index
y HAledl YaADiD U

Question Number : 56 Question Id : 454893176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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Match the following :

F=ferfad &1 gafad S

(a)

(b)

(c)

(d)

Options

(a)

List-I

-1

Eastern Ghats

gdl =1e

Western Ghats
qie=s °9re
Satpura
Niligiri
AT
(b) (o)
(11) (111)
(b) (9
(iv) (1)
(b) (9
(iii)  (iv)
(b) (c)
(11) (111)

(i) Mahendragiri

He= iR
(ii) Kalsubai
(iii) Dhupgarh
qaTe
(iv) Dodabetta
& .
(d)
(1)
(d)
(1)
(d)
(1)
(d)
(1v)

Question Number : 57 Question Id : 454893177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Gobi desert is situated in -

M S Reg 2

Options

Pakistan

| I #
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Iran

r

2,“*”']3i

China

o H
B

Mongolia
A Harferar |

Question Number : 58 Question Id : 454893178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What will be the number of the 5.0.1. topographical sheet immediately south of
the Sheet No. 72A /16 ?
e Fo 72A/16 & S AT THoddoNEe & -Ud &I W& 1 BT 7

Options :
i 72B/1

72B/13
2.

Question Number : 59 Question Id : 454893179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

What does Penck’s landscape evolution model advocates ?
G &1 Hged fadrg Afsel fads] dbreld Hedl & 7

Options :
Do vnwasting of zlopes
. goll< &1 3MENSH

Slope development
, & Taerd

collegedunia:

India’s largest Student Review Platform




Parallel retreat of slopes
gAEl BT GHEION YIS 8l

-

Slupe evolution

4 T SPII

Question Number : 60 Question Id : 454893180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

While preparing a map on the scale of 1 : 50,000, the Ganga river in Uttar
Pradesh will be digitized as :
1 : 50,000 & HIYH W HAGA dUR HYd §Y IR Ha¥ H T 81 BT JHhlbeor fobar
L
Options :
A point
| 9@ fdg @ ©U H

A line
Uh G & H9 H

Either as a line or a polygon
U ¥@ I 984 B &9 H

A polvgon
IS T 0 H

Question Number : 61 Question Id : 454893181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In which period domesticiation of plants and animals occurred ?
fbq @1l H Uil Ud gIEi BT UTeigeN g3 7

Options :
Paleolithic

1.g

Neolithic

2r qt‘“”qull
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Mesolithince

=

Pleistaocene

4, T

Question Number : 62 Question Id : 454893182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

(A) : The major means of irrigation in Northern India are canals.

e : S0 9 H H=E @1 yg9 |ed e 8 |

(R) : Rivers of Northern India are mostly of the Himalayan origin.
Options :

Both ‘A" and 'R’ are true
| ‘A’ U@ R Tl 9 §

Both 'A' and R' are not true
. 'A' U4 'R' SFI 94 81 &

'A' is true 'R’ is false
AT e R T B

'A' is false 'R' is true
A E R I 8

Question Number : 63 Question Id : 454893183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Plateau phase of population growth in ‘'demographic transition’ refers to:
GHifhed] WA § TGS gig HT JON TRl A @
Options :

The first stage

1 TdH AdEIT Dl

The second stage

2%3&3‘@17?5[

collegedunia:

India’s largest Student Review Platform




The third stage
. oAy IGLRAT HI

The fourth stage
4 T TR B

Question Number : 64 Question Id : 454893184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

One child policy was the part of birth planning programe designed to control
the size of population. Which country designed and implemented it first ?

9= & dTEN b [EEg v & fov glsfead v g=ar Ang 9 M
$RIpH b1 B A1 | 59 <9 7 Faued sHS! uRSieud fear gd ar] fear ?

Options :

Russia

l.w

Japan

Question Number : 65 Question Id : 454893185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

(A) : California is well known for fruit gardening.
G : BicTHI-a Bl arTaral @ for faw@ndg & |
(R) : Mediterranean climate of this region suits citrus fruits.
PIVYT : 39 &5 BT PHRAArRY Wodryg FeEEe el @ v Suge |
Options :
Both 'A’ and 'R’ are true and R’ is also correct and explains 'A".
, I Td IR SHT U & 9T BV Hal & 9 A9 DI el ARAT Yl 8 |
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Both ‘A’ and R’ are true, but 'R’ doesn't explains 'A".
HAF Ud HRUT G G &, difdid SR G- &I AT 2] Heal 2 |

'A' is true and 'R’ is falsze.
HF Tcd & AR HNU A9 € |

'A' is false and 'R’ is true.
U JUYT 2 3N PN U 2 |

Question Number : 66 Question Id : 454893186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The philosophical foundation of regional planning was laid by whom ?

urefere Mare= &1 greiFe Aig s gRT v s o) 7

Options :

Benton Mackaye
1 acH HPp1d

Patrick Geddes
> i e

Le Corbusier
, @ i

P. Abercrombie

4 [ﬂr_r Haveh

Question Number : 67 Question Id : 454893187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : I‘?‘IUltip]E Choice Question

Who propounded the organic theory of state ?
o & ofd g @ fede ufaurfed fear ?
Options :

Mackinder
1, ATHUSR

Haushofer
2. el ” |
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Demangenn

Question Number : 68 Question Id : 454893188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The tribal population in Andaman and Nicobar Islands belongs to which race ?
FeqH AR FMHER T4 998 § Sy el &g gt § a2 ?

Options :
Australoid race

Im%mmﬁ

Caucasoid race

CAG T R I |

2

Mongoloid race
5 AITCTSS AT

Negroid race
4 TS it

Question Number : 69 Question Id : 454893189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Wild-Ass sanctuary lies in which State of India ?
=1 T IMANTY R & fbd o § Re@ g 7

Options :
Assam

1:

Guyarat

5, S

Maharashtra

5 HERTE
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West Bengal

& qiegd 4T

Question Number : 70 Question Id : 454893190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is not correctly matched ?

fr=ferfad 9 9 -1 921 gAferd 8T € 7

Options :
Dam

AT

q79
Dulhasti

Dam

AT

99

Panchet

River
S

Chenab

T <

River
qJe1
Ken
River
T

Damodar

GTHIEY

River
S|

Bhagirathi
IR RS

Question Number : 71 Question Id : 454893191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following channels separates the Andaman from Nicobar

Islands ?

fFfeiad 3 9 -1 °9d FeER 419 G958 9 HASHH Bl 3T HYl € 7

Options :
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9° channel
o G e

10° channel
10° T+l

11° channel
4, 11° =7

Question Number : 72 Question Id : 454893192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

India has the longest border with which country ?
WG a9 oal 99 59 9 & 9 g1 8 7

Options :
Bangladesh

Nepal
:

Pakistan

4W?5W

Question Number : 73 Question Id : 454893193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who said "Economic geography deals with economic life of man with relation
to environment” ?

Options :

Murphy
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Johna
2. ATE]

Zimmerman

3. FFHRHA

Thoman
oI
4.

Question Number : 74 Question Id : 454893194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Match List-I with List-II and select the correct answer from the given codes :

gH-1 &1 A1 ¥ Fa= a¥d g 23 T3 @ 9 Hel 9% &1 997 Y

(a)

(b)

(€)

(d)

Options

List-I
-1
Pampas
JH T

Veld

qcs

Steppes

Downs
Sio~q

Codes :

(b) (c)
(111) (1)

b) (o

(1)  (111)

(b) (c)

(iii)  (iv)

List-I1
A-II

(i) South America

SIeTuT 3N
(ii) Awustralia

e fer
(iii) South Africa

SfeTT Tt

(iv) Central Asia

e Ui

(d)

(1v)

(d)

(d)
(11)

-

el
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Codes :
. i

o

(a) b) () (d)
4 (1) (i11)  (11) (1v)

Question Number : 75 Question Id : 454893195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following countries is nof a member of G-7?
F=feIiRad 5 9 HH-91 39 G-7 &1 Yo 787 & 7
Options :
Italy
,, Feel

Japan

United Kingdom
4 JArEcs fhiTed

Question Number : 76 Question Id : 454893196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which method of regional planning is developed by Malisz ?
urefire Faras o g fafe &1 aifos g faefaa e & ?
Options :

Cost analysis

1 Al d Ia 'CE?IHUI

Input-output analj.*sis

) ST

Economic base analj,'zis

. 1feier IR fagermor
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Threshold analj.'aiz

i HTOER ey

Question Number : 77 Question Id : 454893197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The "Sirenikski Language", which is virtually extinct, is spoken by which group
of primitive people ?

Options :

Mongolians

i HIferaTs
Eskimos
2 ki \

Bushmen

6 < '

5.

Tharus
AT

Question Number : 78 Question Id : 454893198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following is known as the 'golden fibre' ?

= 4 9 g w@ftlg By & $9 3 @41 &an 2 2

Options :
Cotton
) GRS
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Silk

Question Number : 79 Question Id : 454893199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is not a natural harbour ?
91 H ¥ &9 Uh Wdhids davTe T8 2 7
Options :

Visakhapatnam

,, ToRTETIEeH

Eu'Iarmagna
5, T Il

Paradip

BIWR"@T—I

Mumbai

-

4z

4.

Question Number : 80 Question Id : 454893200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Mediterranean tvpe of climate is indicated b}' which 5}.‘11113:::1 in the Koppen's
classification ?

g

Options :
Cs=
HloTHo

) 5

Cw
5 Hlogego

As
JoU¥Ho
=
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3

4 WO

Question Number : 81 Question Id : 454893201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The term Endrumpt’ is associated with :
TgvF TS HeEfd B

Options :

W. M. Davis

S&o THo Sfaq 9

W. Penck
zﬁwﬁﬁ

L.C. King
Tdlo Hlo b 9

A. C. Lawson
To Hlo #fE- 9

Question Number : 82 Question Id : 454893202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which type of survey is conducted to tind out the problem areas ?
RN &3 &1 Uar o @ foe 59 uaw &1 gderor fhar omar € °2

Options :
Regicmal survey

e fres gaeror

E':-ample survey

gfaeel |aem

Diagnostic survey

5 SeTe Taeu

Techno-economic survey

4wwm%ﬁw
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Question Number : 83 Question Id : 454893203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who established 'National Atlas and Thematic Mapping Organization'
(NATMO) ?
T Yooy a1 fauue AefEsr d@ied (AreH) $ e wnfug e ?
Options :
H. L. Chibber

, T Teo @R

S. P. Chatterjee
4 THo Wo Feol

I. R. Khan

r

3 ATgo IHNo MW

G. Kurian

4?%&2@[7{

Question Number : 84 Question Id : 454893204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Kraal' is associated with which of the fn]_luwing tribes ?
ffofag § 9§ ‘$ral FJ9ng 9 9eag g 7

Options :
Masai

-

IR
1.

Sentineleze

3 Hefeir s

Bushman
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Question Number : 85 Question Id : 454893205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following population pyramid types indicates increasing birth
rate and high death rate ?
=1 # | $I9-91 S9N RIS ¥oN 9gd 9=eY U4 S2 Jegay &1 Had el
&2
Options :

Stationary

y fRem

Regreszix'e

o FICHTTA]

Prngrezsive

3. SHINNI

Intermediate

4 HETA]

Question Number : 86 Question Id : 454893206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Scale of the map refers to -
bl A &I d919d <9dl &

Options :

Size of the map

Size of the area reprewented
E"E'ﬂ'q LAY g3 & 3B DI

Ratio between distance on the map and distance on the ground

WW?&WWWﬁIT T DI

Ratio between different maps of the same area

, U@ B & B AT AEEE @ g &

Question Number : 87 Question Id : 454893207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Population pyramid represents :
Gl;iﬂ.;ﬁ]l [q 2””@ E!\;”E” % .
Options :

Annual growth rate

Age and sex cmnpnaitinn
, 94 Ud o1 9acH &1

Urban and rural composition

3 TG Ud T HEST Bl

Occupational structure

4afrrmﬁrrm:r?ﬂmﬁ%1

Question Number : 88 Question Id : 454893208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who gave the concept of locational triangle ?
e RIS B &1 Ghoddr ol ?
Options :

Alfred Weber

D. M. Smith
Slo THo e

C.D. Harris
. Hlo Blo gRA

W. Christaller
4 \'érr{'qp e ClClX

Question Number : 89 Question Id : 454893209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question
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Identify the geographer on the basis of following facts :

fFeferfaT aeal & TER O $FTerda &1 Tgdr Hifg

(a) He was a German geographer;
d ST YEITera 9,

(b) He was a great geographer of the 17th century;
d 1741 |31 & FEM erdn o;
(c) He died at the age of 28 years;
SD! Heg 2894 @1 9 H B TE;
Options :
Kant
1. e

Varenius
5 T

Humboldt
- grloc

Ritter

4.ﬁ?"

Question Number : 90 Question Id : 454893210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
"Present is key to the past”. Whose statement is this ?

“gAH T DI Hoil 27 | T8 fHadT HUH © 7

Options :

C. A.M. King
, ¥lo To THo fa

W. M. Davis
- S%Yo THo sfag

James Hutton
3 k BGC

Walter Penck
drecy U

4

-

el
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Question Number : 91 Question Id : 454893211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who propounded "Geography as the study of Human Ecology" ?
"I HFd WIRRIfA® & Fea & w9 9 fhyge afguried fea ?

Options :
H. H. Barrows

1 Udo UTo GRITe

W. Bunge

> \E_. f‘{*:.;‘i:f? EII i I

H. J. Mackinder
5 THo o AfprEy

P. James
y lo o7

Question Number : 92 Question Id : 454893212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

QueStiOH Label : Multiple Choice QuEStiOﬂ
"Morphology of Landscape” is authored by whom ?
"“HIhicioll IiTF dewhy” fboud gn foillga 8 7

Options :
W. M. Davis

| S THo sfaw

Carl O. Sauer
5 h :?1’ iE:iTn e G KN

E. Huntington
3 é:a RIS

Patrick Geddes
i ufes ffsy

Question Number : 93 Question Id : 454893213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
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What is indicated by the spacing of countour lines ?
FHTE Y@ & a1 B g § g7 3R g g ?

Options :
Degree of slope
, @ @ 39T DI
Direction of slope

2?:.7?[3%1%:?11%7

Land use
, I S

Length of slope
4 GTET @ ofarg &

Question Number : 94 Question Id : 454893214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It scaleofamapis lem=1km Its R F. will be:
afe A "fta=a &1 99 1 99 = 1 69 8 a1 96T Jo @o arFm

Options :
1:100

1:1000
2.

1 : 10000
3.

" 1 : 100000

Question Number : 95 Question Id : 454893215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What would be the bearing of 200° when converted to reduced bearing ?

200° @ fe®ma™ & gaFa foma | uRafag &9 W 919 /&1 28F7 7

Options :

S70°E
1.
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S 70°W

S5 20°E

S 20°W

Question Number : 96 Question Id : 454893216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

When two or more contour lines meet, the slope of the land would be :
oid &1 1 Alee FHE= ¥ Aol g, 1 JiA &1 @1 29

Options :
Steep

. T

Gentle

> HMH

Uniform
= HHIA

Vertical

Question Number : 97 Question Id : 454893217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Mercator's projection is used mainly for :
HheY UET &1 SUART HE@Id: 81l 2
Options :

Distribution map

1f?.iaw:rr~rﬁm#

Astronomical map
4 AT HEE H

Polar areas map

o érll @ st 3
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Nm*igatinn map
4 ey HHEE |

Question Number : 98 Question Id : 454893218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Where do the Semangs live ?
ST e T § 2
Options :

Central Africa

el 3HIB]

Borneo

Brazil
grald

Andaman Islands

3SHM &I T8

Question Number : 99 Question Id : 454893219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Who has given the 'core periphery model' ?
Options :
Amartya Sen
1 FHE U
Sukhmaya Chakraborty

2?3@@?@—&#?

Gunnar Myrdal
3 ]!;;l]'\ I_‘q *E:C;I

John Friedman
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Question Number : 100 Question Id : 454893220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who has given the concept of crop combination region ?

Options :
]. C. Weaver
) wWo lo dTaw

L. D. Stamp
> Yo Slo ¥

D. Whittlesey

J. E. Spencer
4 Wo Bo WY

Question Number : 101 Question Id : 454893221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The rivers of Northern Asia are unsuitable for navigation because :
SR iR @ Afedl AreraE & o seuyge § @i

Options :
The*j.-' are shallow
i IAqAT B

They are frozen for longer period of time

2aﬂmﬂmmﬂ—fiﬁrwﬁf€

The‘_i; have many wa terfalls

S 9gd SoudTd ©

3

Navigation is politically restricted

4 ATHTI ITaA-a® gt ¥ ufgdfad g

Question Number : 102 Question Id : 454893222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
Which of the following countries is not a member of SAARC ?
fr=iforRad § 9§ $IH-91 <9 9 &1 9o J8T & 7

Options :
India

CIEG]

Sri Lanka

I Gal

Pakistan

=
11 {iJQ;ll;:l

Turkey

SRl

4.

Question Number : 103 Question Id : 454893223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Central plar:e thenrj,-' is given bj.' :

ho1a el e e 74

Options :
Christaller

heciol & BV

1

Jetterzon
g WHYEA @ BRI

Zipf
2 % & 8T

Geddes
4 TSH & g

Question Number : 104 Question Id : 454893224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following lake is not considered among the Five Great Lakes ?

fpg et &1 H12d Uc oo’ | A 787 fhar orar g 7
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Options :
Erie

p ¥

Ontario

L T %

b

-

E:up erior

hRe

Winnipeg

4 1A

Question Number : 105 Question Id : 454893225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The alluvial tracts between two rivers is called :
21 AfEi & 49 9 e T B FE & -
Options :

Doab
, ST

Maidan

Question Number : 106 Question Id : 454893226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Eastern Ghats and Western Ghats meet at -

Options :
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Palni Hills

Nilgiri hills

Annamalai

y IFTHAT D UTH

Ooty
4 el & U

Question Number : 107 Question Id : 454893227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The author of 'All Possible Worlds' (2005) is :
Jfet difael doed’ (2005) & ofd® ©

Options :
G. J. Martin
| Silo @o A1

R. Hartshorne
5 3o B9
H. J. Mackinder

O. H. K. Spate
i 3o Udo Fo T

Question Number : 108 Question Id : 454893228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Citrus fruits are Very common m :
QQL,C NHGIN ™hed d%“ 1_'5‘}[ 1A g .
Options :

Western European region

| TRTA IR A |
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Mediterranean region

2@@11111'51715@’911‘#

Desert region
3, TRICIA S H

Coastal region
4 TCI Ue9 §

Question Number : 109 Question Id : 454893229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rio Grande river forms the boundary betiveen :
R i <1 JE g4 B -

Options :

Canada and US.A.

FHATST AR JoTHoTo & 4

U.S. A and Mexico
JoUHoTo IR AP & 14

Argentina and Brazil

Chile and Peru
i el 3N US & 4

Question Number : 110 Question Id : 454893230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which of the following countries does not belong to 'Horn of Africa’?
34 W HIF-GT I B I hier ¥ InHa T8 2 7
Options :
Ethiopia
: ERIDIED

Eritrea

U]

2.
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Somalia

Question Number : 111 Question Id : 454893231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Which country is deficient in minerals but industrially rich ?
Options :
Japan

USA.
3 JoUyolo

Australia
5 " leR

Question Number : 112 Question Id : 454893232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

David Henry is known as :
Sfde g% I AT Fdl 8

Options :
Ph}*aical geugmpher

Hifcr YITera<n & &9 4

1

Urban geographer
; TR YTeddr & w9 4

Radical geographer
: HAfars! 9ArerdT® w9 4
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Regional geographer
4 TR Feaen & w0 5

Question Number : 113 Question Id : 454893233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Tropical grasslands are very common in :
FWIBICaH I U & HaT- 9gd & 9 g

Options :

Brazilian Highlands
LSS s i B G

Mexican Highlands
5 AT & I=1 U9 H

Indo-Gangetic Plain
o TTT-RTY & e 3§

South Africa

4afeﬁvﬁaiﬁ?ﬁmﬁ

Question Number : 114 Question Id : 454893234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

‘There is a strong relationship between environment, image and decision
making'. This statement pertains to:

TR, dfafem iR Ao o9 @ @9 U 9eiaa §ey gl e | 38 FYE ey
Haferd €
Options :
Humanism
1 “i1ddalglc

Behaviourlism
2) G FARG
v g ;

Radicalism

3. :H I-E I':”a
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Weltare Approach
HATITHRI GICHT]

4

Question Number : 115 Question Id : 454893235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Who prepared the first weather map of Britain ?

fha- faca &1 ugen 999 gt aar e ?

Options :
Francis Galton

, TPINTH TTee

G. P. Marsh
G Eﬁo T:ﬁf_'_! ]:ﬂ‘gi’

Mary Somerville

5 N gHefaa

H. J. Mackinder
4 Yo Tlo HfHUsy

Question Number : 116 Question Id : 454893236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who has given the concept of stages of economic growth ?
el fasra & =R & Hhod e &1 ?
Options :
A. Hannes
, Yo v

]. H. Pratt
» Ulo Ydo HIE

L. Febre
= mﬁj rﬁ_;\:

W. W. Rostow
4, S o I
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Question Number : 117 Question Id : 454893237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is considered as the founder of Mathematical Geography ?
Options :

Plato and Aristotle

el 3N AN,

Thales and Anaximender

> I R TIRIFVSY

Hecateus and Herodotus

P T + . k!

|G I 3N e}ISIcYH

Ptolemy

4, T il

Question Number : 118 Question Id : 454893238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"Resources as means of attaining given ends". Whose statement is this ?
g 8 T SISl DI AT B BT A1EgH & | I fhgd gaded 2 7
Options :

Zimmerman
; foreEq

Keynez

2 l'jJ I ;'—\l:l

Ratzel
. oS

Humboldt

4 By oC

Question Number : 119 Question Id : 454893239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question
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In Christaller's hierarchy system, the 'K’ value for transporting principle is :

fhecioR & TaTshH UUTell & URds fagid 2 4 'K &1 74 #0127

Options :

i [

Question Number : 120 Question Id : 454893240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the fnllmwhg approaches is related to historical perspective of
rural settlement studies ?

fFrfeiad § 9 -9 SURTH JMEI0T 9% 3Eqa+l & Ufaengs aRuey 9 Hdfad
g7
Options :

Behavioural approach

lamaﬂi‘?ﬁmmﬁ

Spatial approach
RIS U

Ecological approach

griRfRerfas IuUrTH

Retrogressive approach
7 Tl SUTTH
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